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Given two quadratic equations,

I. x2 - 31x + 240 = 0

Equation I has two roots x1, x2. (x1 > x2)

II. 3y2 – 7y – 3 = 8y - 3y2 - 9

Equation II has two roots y1, y2. (y2 > y1)

Find the equation whose roots are (– 2y1 + x1), - (y2 – x2).

1. x2 - 28x - 195 = 0
2. x2 - 28x + 195 = 0
3. x2 + 28x - 195 = 0
4. x2 + 28x + 195 = 0
5. CND



The average weight of a class of 50 students is 80 kg. If two of the students with 

weight 40% & 50% of 'x' leave the class & two new students with weight 'x' & 'x 

- 10' join the class, then the average weight of the class is increased by 2 kg. Find 

the value of 'x'?

1. 80
2. 100
3. 90
4. 120
5. 110



A car and a bike start from a point at the same time and reach another point 90 

km away at the same time, if the car was running ___% faster than the bike and 

took a halt for ___ minutes, while the bike was running at a speed of 60 km/hr.

Which of the following options satisfies the two blanks in the question?

A. 20, 15

B. 25, 20

C. 50, 25

D. 80, 30

1. Only A
2. Only B
3. Only C
4. Only D
5. Both A and C



A series is 224, 124, 268, 72, 328, 4

If another series is 644, ____, (y), _____, (z), ____, (x), 

which follows the same pattern as the series given above, then which of the 

following statement(s) is/are correct?

I. Sum of the first three-term of the series is (x + y + z) + 416

II. Sum of the second, fourth, and sixth term is 1460

III. (x) + y = 516 - z

1. Only I
2. Only II
3. Only III
4. Only I and II
5. All I, II, and III



In a class there are ----- boys and 24 girls. In an examination average marks of 

boys are 45 and average marks of girls are ------- . Average marks of the whole 

class are-----.

Find which of the following values satisfy the blank?

1. 15, 50, 30.32

2. 20, 40, 42.27

3. 32, 55, 47.25

1. only 1
2. only 2
3. only 2 and 3
4. only 1 and 2
5. only 3



Directions: Answer the questions based on the information given below.

In the given table there are two columns I and II. Column I contains three 

equations and column II contains the roots of the equation given in column I, not 

necessarily in the same order. Study the given table carefully and answer the 

questions accordingly.

1. 1- a, 2- c, 3- b
2. 1- b, 2- c, 3- a
3. 1- c, 2- a, 3- b
4. 1- a, 2- b, 3- c
5. 1- b, 2- a, 3- c

Column I Column II

1. x2 – 2x – 48 = 0 a. -6, 8

2. y2 – 4y – 252 = 0 b. 18, -14

3. z2 – 5z – 104 = 0 c.13, -8



Directions: Answer the question based on the information given below:

Given pie chart shows the percentage of employees from five different departments of a 

company, who are going on an office trip. The total number of employees, who are going on 

office trip from the HR department is 1/3rd of the total employees in the HR department. Ratio 

of the number of employees, who are going to trip and who are not going to trip from the 

operations department is 3: 4 respectively. The total number of employees, who went to office 

trip is 100.

Departments

Number of employees who 
are not going on office trip 
out of total employees in 

the department

HR 32

Operations 24

Marketing 2y

Sales 2z

Management x + y + z

X%

Y%

(Y+6)%

(Z+20)%

Z%

Percentage ( who are going on office trip)



Find the total number of employees in all five departments together in the 

company?

1. (x)2 + 3
2. (y)2 - 42  - 1
3. (z)2 + 7.5x + y - 1
4. Only I and II
5. All I, II, and III

Department
s

Employees 
going on 

trip

Employees 
not going on 

trip

Total 
number of 
employees

HR 16 32 48

Operations 18 24 42

Marketing 11 2y = 36 47

Sales 24 2z = 22 46

Managemen
t

31 x + y + z = 45 76


